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o= 29,000
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OI=EMNSE X2 ALS 175,000,000& 175,000
o= 29,000
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o= 7,200
i 9,600
402 QI2EXHE0IHE 16,800 42,000 225,200
o= 7,200
i 9,600
02 QIZFRH2 A 22 (01 M THE) 16,800 42,000 225,200
SAAIE 230 X~ 16,800,000& 16,800
o= 7,200
i 9,600
SHESOME 33,600 23,100 10,500
| 14,400
o= 4,320
i 14,880
307 @I2+0|: 33,600 23,100 10,500
| 14,400
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i 14,880
02 QIHHLAIHES 33,600 23,100 10,500
Ostds0F 243t XZARY 33,600,000& 33,600
| 14,400
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SO E SRR 30,000 30,000 0
307 @I2+0|: 30,000 30,000 0
02 QIHHLAIHELS 30,000 30,000 0
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I XS HEZAS MADBIEA
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\ ESELE 300, 000 &*200 & *50% 30,000
DEAASHAIS 20,000 20,000 0
402 DIZERH20|E 20,000 20,000 0
01 DIRFXHE A B (KAITH) 20,000 20,000 0
OSHUREMA Al& KA AN
20,000, 0002 *2IH A *50% 20,000
=4 S AL XIS 72,000 51,000 21,000
307 QI2H0I 72,000 51,000 21,000
04 DIZFSHAIAIE B X 72,000 51,000 21,000
OSACH] FIIBHAL XIS
20,000241, 000 2 *50% 10,000
OB 2 HAEY MEKXKOIERAlL 20
AL ADIZISAICHE] K1) 60,000,000 60,000
OFLHMS GEAH BHALK| S 2,000,000 2,000
TAL2MARR AFL2IX] MIZEH| X2 413,586 450,765 NA37,179
7| 275,724
[ 137,862
307 QI2H0I 413,586 450,765 NA37,179
7| 275,724
[ 137,862
02 CIRHEAAIIB X 413,586 450,765 N37,179
OXAIZMALR AFARIXI HIZH| XIS
413,586,000 413,586
7| 275,724
[ 137,862
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7| 15,000
[ 13,500
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7| 15,000
[ 13,500
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60,000,000 60,000
7| 15,000
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= 31,500
ZAI2MAIR BXR2H| X2 95,936 R, 156 3,780
7| 68,526
[ 27,410
402 DIZERH20|E 95,936 R, 156 3,780
7| 68,526
[ 27,410
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